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	 5.	 In the reaction between potassium sulfite and iodine dissolved in potassium iodide, the 
species most likely to act as the oxidising agent is

A	 I-(aq)

B	 I2(aq)

C	 SO3
2-(aq)

D	 SO4
2-(aq)

	 6.	 Isovaleric acid is a compound found in wine and has the shortened structural formula 
(CH3)2CHCH2COOH.

Which of the following is an isomer of isovaleric acid?

A	 2-methylbutanoic acid

B	 3-methylbutanoic acid

C	 2-methylpentanoic acid

D	 3-methylpentanoic acid

	 7.	 A compound has the molecular formula C4H7OH and reacts with acidified potassium 
dichromate.

The compound is

A	 a saturated secondary alcohol

B	 a saturated tertiary alcohol

C	 an unsaturated secondary alcohol

D	 an unsaturated tertiary alcohol.

	 8.	 The relative rate of a reaction which reached completion in 3 minutes 20 seconds is

A	 0.005 s-1

B	 0.313 s-1

C	 0.005 min-1

D	 0.313 min-1
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